Answer #31

The answer is (a): the mass will be at a higher vertical position with the spring configuration of two
parallel series spring-string combinations, as seen by comparing the two photographs below.
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When the two springs are in series the entire weight is pulling on both springs. With the series/parallel
setup each spring only supports half of the weight, and is therefore extended only half as much. The
small amount of slack in the string cannot make up for the reduced spring extension, and the mass
moves up.
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For questions and comments regarding the Question of the Week contact
Dr. Richard E. Berg by e-mail or using phone number or regular mail address
given on the Lecture-Demonstration Home Page.




